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108%/38 002677 BOX 3,600 |IRE
108%/3H 002678 (O] 1,000 |&%
108%/38 002679 FOE 5,000 [3R%
108%/3H 002680 AEIEAMETEERES 1,000 3R=
108%/38 002681 HEORE 2,000 |IR&
108%/3H 002682 RO 2,000 3R
108%/38 002683 EOR 3,000 |IR&
108%/3H 002684 EOM 100 |IR&
108%/38 002685 =015 100 3R£
108%/3H 002686 =0E 100 |IR&
108%/38 002687 ROE 500 | &%
108%/3H 002688 OB 100 |IR&
108%/38 002689 ZOE 226 |BR&
108%/3H 002690 E%E/N=F Myt 1,000 3R=
108%/38 002696 FFOf 10,000 |&#
108%/38 002697 BRI RIRABRAT 2,000 | &4
108%/38 FEEM FOt& 200 | AmARRtE
108%/38 FEREH :40}2 1,000 |ERF&RE
108%/38 FEEM Jo& 600 |fERAFHEE
108%/38 FEREH JOE 600 |fERFRHE
108%/38 FEEM 20%E 500 |fERF#EE
108%/38 FEREH FO® 500 [ERFE#E
108%/38 FEEM EROEF 400 |ERFE#E
108%/38 FERH MOR 300 [ERFE#
108%/3H FEEAM MOR 300 (SR
108%/38 FERH FOo&F 300 [ERFE#
108%/3H FEERM O 200 |fERFRHE
108%/38 FERH O 200 |ERAFRE
108%/3H FEERM MO 100 |SRF#&#E
108%/38 FERH ErOs% 100 [ERF&E#
108%/3H FEERM 50 - ZOIE 200 |fERFRHE
108%/38 FERH 8O’ 100 [ERF&E#
108%/3H FERFA EOR 500 |(fSRF&EE
108%/38 FERH = 300 [ERFE#
108%/3H FEEH FFOX 200 |fERFRHE
108%/38 FERH 0} 200 |ERF&E#
108%/38 FERH Ok 200 |ERF&E#
108%/38 FERH RMEFEARAT 1,000 |ERAFEE
108%/38 FERH EOF 500 |fERAFEE
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